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1. 1f we increase the distance separation betw
between these charges will: een two charges by a factor of 10, the force

a) Increase by a factor of 10

b) Increase by a factor of 100
© ®
©) Decrease by a factor of 10

d) Decrease by a factor of 100
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2. A proton is released from rest in a uniform horizontal electric field. The proton will:

a) move up

b) move horizontally with constant acceleration
¢) move down

d) move horizontally with constant speed
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0~ N acts between a proton and an electron,
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5. The ratio of the electric field to the electric force equals to:
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d) 1/¢°

6. An electric field is strongest where the electric field lines are:
a) Farthest apart.
b) Thicker.
¢) Close together.
d) Perpendicular.
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7. Which of them describes the electric field lines correctly:

3 @Hﬂ&mwﬁﬂadg\h,hawasﬂiqulv

-+

k v
a) b) @ d)

8. The Figure shows the electric field lines for two point charges. What are the signs of the

charges?
i;.u..:dlmi_;uj‘,ﬁuog&m@mﬂqhﬂ! Mnh,umumgm_h

a) q>0andg:<0

b) qf:’ﬂa?l'dq‘g}ﬂ N//
@l qi < 0 and q,-;-_?-ﬂ
d) ¢,=0andgq2=0 D




9. A cube is placed in a uniform electric field has a magnitude of 50 kV/m and in positive x-
axis as shown in the figure. The length of each edge of the cube is 2 m, the electric flux
that passes through the shaded surface is:
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10. The amount of electric field passing through a surface is called:
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a) Gauss’s law.

b) Electric flux.

¢) Electricity.

d) Surface charge density.

11. An electron is released from rest in a uniform electric field of magnitude 5.9 x 10° V/m.
After the electron travels a distance of 1 mm, the potential difference will be:
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12. An electron is released from rest in horizontal uniform electric field. The electron’s
electric potential energy will be:
a) Increased
b) Decreased
¢) Remain the same
d) Need more information
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13. The electric field inside a conductor in electrostatic equilibrium is:

a) Uniform.
b) Zero.

¢) Radial.

d) Symmetric.
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14. The following charges are located inside a balloon: 5.00 pC, -9.00 uC, 27.0 pC, and
-84.0uC. The net electric flux through the balloon is:
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a) +14.12x 10° Nm*/C*
b) - 14.12% 10° N.m’/C’ @
¢) +6.89 % 10° Nm’/C*

@_ —6.89 x 10° Nm*/C*
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15. Three point ci:arge. qi=lp C.-q;—-z pC andq=3 u C are fixed at the positions shown in
Fig. What is the total ial f qi, G2, and qs?
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s se the right answer for the following questions:

QL. 1f ial di :
the potential difference across a resistor is doubled:

a. only the res-istancefi's_;
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cross-sectional area




Q4. If the Vvoltage across a circu;

by that circuit will

t of constant resistance is doubled, the power dissipated

a. decrease to one half
b. double

¢. decrease to one fourth
d. quadruple




ng a resistance of 10 Q, are a
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ranged in serjeg

A & B point:

-paralle]
the equivalent resistance jp
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d. ~3.00
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